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The first Riflgf _iproject of the Package 1.
Programme was launched in -

0y
@
3
@

7 districts of 9 states
7 districts of 7 states
12 districts of 7 states
7 districts of 5 states

Microsoft word is an example of - 2,
@)
2
3
@

Which districts of Rajasthan are under the ‘Aw’ 3.

Hardware
D.B.M.
Application software

System software

type of climate, according to Koeppen climate
classification?
ey
@
3)

Udaipur - Sirohi - Jalore - Rajsamand
Jaipur - Alwar - Dausa - Bharatpur
Banswara - Dungarpur - Jhalawar -
Pratapgarh

Kota - Bundi - Jhalawar - Sawai
Madhopur

@

The ‘Theory of Optimum Population’ was 4.
given by whom among the following?

(1) Edward West

2
&)
)

Edwin Cannan
Margaret Sanger
Thomas Sadler

Identify the wrong pair (river and its tributary) 5.
from the following -
(1) Banas - Menal
2
3
@

Parvati - Moren
Luni - Sagi
Sabarmati - Wakal

Yo 9UM T UEd 9EdC Heige go
T T o —

1) 7 S Tem 9 et §
(2) 7 Rt = 7 STl #
) 12 forer @ 7 AT |
@ 7 forer gon 5 wowi #
AIGPIEUE TS Th SEIET & —
(1) FRERR

(2) <idiEE.

() THBIE TR

(4) s diveame

DIV IR THI & AR IJoTAM &
BITH 1ol ‘Aw’ TBR B Slerdry # Gitaferd
87

(1) SER - RRE - WER -
RSTaA<

(2) TR — IR — INT — TRAGR

(3) IHAST — PR — SleEs —
HdUie

@ @i — & — s — 69

NG
FrfoiRaa & | ‘st s Rigia’
fopees gRT = R or?
(1) TS T
() vsfT da
(3) ¥RRE BN
4) e deer

frfofed & @ 999 g9 (D @ sEe
e[S iE)) B Y=g —
1) 99 — 5

(2) UEd — 3R
(3) < — =l
(4 ETRT — 9%
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6. Match list - I (Political Geographer) with list - 6. & — I (o ¥Fer) @ gt 11
II (country) and select the correct answer using (@) 3 GHfera BIfSTT T B FT UG
code - wE SR gHY —

List-~1 List-11 I | T - 11
A. N.J.Spykman a. United states A. T O WEHH a WgE g
of America amRST

B. RudolfKjellen b. Sweden B. 9SIe® duleM b, EA

C. H.Mackinder  c. Britain C. U= HfPpo=R c. faew

D. O.H.K.Spate d. Australia D. 3LTa % We d sifefern
Code - &c -

A B C D A B C D

1) «a v b d @ a c b d

2) ¢ a d b @ c a d b

3) a b c d €)] a b c d

@ c b d a @ c b d a

7. Which element of teaching model is related 7. Rrmwr wim= &1 #ar o Brw wd
with the interaction between teacher and RBrrt & srafrar § a=fag &2
learner? :

T -
(2) Social system

3) Focus S

(4) Evaluation system @ e ERIC]

8. Which one of the following statement is not 8. R v 9 (Rex) dAfsd & wof 4

correct with respect to Raster model? FrafaReq § ST @ $oe |El a8 87
(1) Simple data structure (1) G APl GG
(2) Efficient for network analysis: 2) uRuer Se favever & fow ge7
(3) Simple for own programming, @) @ B AET 3 R
(4) High spatial variability is efficiently @ <= e avreiear o1 g&
represented g

9. What is the correct North to South locational 9. fH=feiRaa v el &1 SR ¥ <o &1
sequence of following minor plates? WE! ARARID! HH AT 27
(A) Nazca (B) JuanDe Fuca (A) TSI (B) SR S HHT
(C©) Cocos (D) Scotia (©) 9w (D) WM
Code - HE —

M @) ®)©).O) M @.®).©.0)
2) B @A), D, ©) @ (B),(A), (D), (C)
3) B (O, A), ®) @3) (B), (C), (A), (D)
@ ©.®).(A). D @ (O, ®),(4), D)

10. The air temperature at the tropopause is about 10. fgaq Y@ & SR &@W W § &1 61
minus 80°C over the equator and about minus YA ST AIS9T 80° 9. &fR 12C} P HI
.................. over the poles. TR "IS BT &1

M) 45°C 1) 45°9.

@ 30°C @ 30°%

(3) 100°C @) 100°%

@ 75°C @ 75°9.
10- £ Page 3 of 32
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11.

12.

13.

14.

Which is not a type of reefs from the following?

(1) Fringing reefs
(2) Ridge reefs
(3) Barrier reefs
(4) Atolls

The chief characteristics of nomadic herding
are -
(A) Seasonal pattern of movement by
nomads and their animals
(B} Transhumance
(C) Livestock ranching in permanent
ranches
(D) The animals are raised for sale
Code -

(1) (A)and (D)

@ (A, ®B),C)and®d) ~
(3 (A)and (B)

@ (A), (C) and (D)

In Kohlberg’s theory, at which level moral
development is internalized .and not based on
external standards?

(1) Pre - conventional level

(2) Conventional level

(3) Post - conventional level

(4) Interpersonal level

Match List-I with List-II and select the correct
answer from the code given below -

List-I List-II
(Author) (Book/ Work)
A. Humboldt (i) Civilization and
Climate:
B. Ritter (ii) Exceptionalism

in Geography-
Re-examined

C. Hartshorne (iii) Kosmos
D. Huntington (iv) Die-Erdkunde
Code -
A B C D
nH G G (ii)
2 @ (Gv) G (il

@ @) @ @ v
@ @) v @ O

11.

12.

13.

14.

@ (i)
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fr=falReg & 9 99 yae @k @1 @
YHR &l 87

(1) g v B

(2) e yard Ry

(3) IRED Yaia WRT

@) YAy e (Gl _
TR TEEARYT B W foeveny € —

(A) T T UgSH & IR BT

A ureg

B) EIEEE

(C) =Rl =REME! 4§ yHTe

(D) UIEH B f&FT T T UTel SR
]

az\_c’.._.

D AR D)

2) (A (B), (C) 3R (D)

3) WAR®B)

@ (A), (C) 3R (D)

BIEdeT & fagrg 4, o9 W W™ Afde

faprg 9@ AFel WoamRa W Blex

SR W SR Bl 27

1) @ — s wr

Q) W wR

(3) I — BT 'R

@) sFfRE 'R

TE—1 BT TE-IL I GRTT FiTg ol IR

&7 7 T | WE SR BT T4 DY —
-1 E-1I
(cTE®) (GT / B

A, ®HERe () TiResseE gs

CEIELC

RIS g
SITHI—R— i
EFSIIEES] u

()

BT
SIERC TR

B. Rex (ii)

C. wEIH
D. EfdTeq

(iid)
(iv)

‘e —

o

A B C D
@ @) Gv) @ G
@ O G @ 3§D
@ Gi) O @ v
vy @@ @
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21,

15.

16.

17.

18.

19.

20.

'establishing

Which of the following is not a correct match?

(1) PirPanjal Range - Banihal Pass
(2) Zanskar Range - Fotu La Pass
(3) Dhauladhar - Shipki La Pass
Range
(4) Ladakh Range - Khardung La
Pass

If the mean and mode of some data are 4 and
10 respectively, its median will be -

Q 7

2 14

3) 6

4 3.33
The most flood prone state of Indid is -

(1} West Bengal

(2) Orissa

(3) Bihar

(4) Assam
The low mounds developed in an extensive
kettle are called as -

(1) Kame

(2) Drumline

(3) Hummocks

(4) Esker
Which of the following wind landform have
been called as cockscomb by A. Holmes?

(1) Inselberg

{(2) Mushroom Rock

(3) Zeugen

(4) Yardang

Which of the following is the state group
growing three crops of rice - Aman, Aus and
Boro?

(1)} Punjab and Haryana

(2) West Bengal and Punjab

(3) West Bengal and Assam

(4) XKerala and Tamil Nadu
Who among the following is credited with
a humanistic approach in
Geography?

(1) Yi-FuTuan

(2) Brian].L.Bemry

(3) Lucien Gallois

(4) Philippe Pinchemet

15.

16.

17.

18.

19.

20.

FrafofRag & 9 foraer a9 o 78 &2
1) YR 9o S - sfETe esd
(2) SR Aoy - Hig @ &<
(3) diomm SO - R @ o
@ <Erg gl - 3T a1 i

I Ho AlHS! BT AT AR Igad HAT 4
R 102, af s AT BFflt —

a1 7

2 14

3) 6

4) 3.33

MR BT 98 916 Jd0T 75T & —

@ uf¥=w 9

(2) SSr

3) fEr

@ 3=H
Wﬁaﬁzﬁﬁaﬁwﬁrﬁﬁaﬁm
Pl HEA & —

1) ¥

(2 sEfem

3) @

4) TN

el § & 9 g i o
T, 8 5 BiegsiE M fet?

@) AT

@2 3% R

@) wFH

4) IRST

FrafaRag & 9 aa B 99 Bl — sHE,
3 ok AR ST Tl IS R 8
1) dSE vd FRIm

2) uf¥=H dwer v UeE

3) uf¥=m e U9 R

@ ova gd ey

Ffemm 9 & e e ¥ wrda sorm
BT RAMNUT B BT AT T 27

O - 9g
(2) FIIEF 9. Uel. O™
(3 e dresE
@) fform e
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22. What is the direction of trade winds in the 22. <ol MeorE § @ufRs et & fRer 7=

southern hemisphere? el 87
(1) South-East to North-West o _TT TR
(2) South-West to North-East @) R TR
(3) North-West to South-East @) SRR ¥ R
(4) North-East to South-West @ Gﬁ_‘r_qﬁ o SRt
23. The area famous for its ‘Duar formations’ is-  23. ‘IR RIAPIT & g ufdg &9 & —
(1) Kashmir Himalaya 1) SR BEey
(2) Himachal - Uttarakhand Himalaya 2 RBuamEa — SIRRass f2aey
(3) Sikkim Himalaya 3 Tufdwq fEarem
(4) Trans Himalaya @ IR IGCIRL
24. Which of the following is not a characteristics 24. f=flRes 4 9 F=h {HuaREer F§
of social development in adolescents? Ao fawr o faevar 8 87
(1) Increased peer influence (1) 91 g3l T 94919
(2) Attraction towards opposite sex (2) fuda R & &R s
(3) Extension of interest ) ifreRr Rar
(4) Social activities decline @) IR fhaiseny i LIl
25. Who among the following is credited for the 25. fr=ifeiRag ¥ & {6 Sy R sigle’ &
start of ‘Garden City Movement’? YBIT & 949 {ar wrer 87
(1) Howard, E. @ =ES, 3
(2) Gallion, A. B. 2 dHferiF, © &
(3) Hudson, F. S. (3) TSHd, Uh U9
4) Clatk, D. @) T, S
26. Select the group related to E - resources of 26. TR aftr™ wdfi & § — warEi 9
teaching - learning material - SiSls :}Eﬂg PT TR BN —
(I) Blog, Twitter , Youtube, Facebook D P QISR < g
) Blog, Globe, Youtube, Facebook @) i, T, Y — YA, BT
(3) Globe, Projector, Youtube, Facebook (3) e, doI, - &% b 144
(4) Youtube, Facebook, Blog , Globe @) 7-ue Ei;“gas' AT, 75:;‘[31
27. In which of the following phases of the moon, 27. T=HI &I FFfeiRad § W BT TaeImail
the Neap tide will occur? ¥ Y SR SIRIT?
(A) Gibbous (B) Crescent (A RPeEa/gser B) ®=FHF
(C) Firstquarter (D)  Third quarter © wmaIgyE (D) TN agiy
Code - HE —
() (A), (B), (C) and (D) D (A, ®B), 3R D)
(2) (A),(C)and (D) @) (A). ()R (D)
(3 (C)and (D) 3 (©=3x (D)
@) (A)and (B) @ W3R ®)

10- £ Page 6 of 32
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28. Which of the following is a benefit of 28. T=foiRad § & P GEdRl AR FT
co-operative learning? ST 27
(1) Decreased retention (1) RO ¥§ B
(2) Greater social suppert (2) 3fte e dicdaEd
(3) Low achievement 3) = Suafr
(4) Low self-esteem @ = e
29. Which pairs are comectly matched in the 29. 9 &7 & P wrigewr Mg &
context of Von Thunen’s agricultural location Hd # BT /9 I W gAferd & /87
theory?z I - Market gardening and milk a9 [, e,
a. one I - Market gardening and mi
production s £ b. U - 99 3R TS ddel
b. Zone II - Firewood and lumbering c. U IV- 99 ©d geen
production d. ¥ VI- Rom e vad 1,
c. Zone IV - Three field system
d Zone VI - only storing grain crops Ty S |
wheat, rye etc. WWWWWWWH’&WW
Select the correct answer using the code given g —
below - M abcTd
(1) a,b,candd
@ acandd @ acd®iId
(3) aandb @) awb
(4) onlya @) Dada
30. In which district of Rajasthan, the ‘National 30. “¥Fa REd W= ®BR RS Bcidear’
Research Center for Arid Horticulture’ has o & T el  wermiug fear
been established? %?_
(1) Bikaner (1) dTR
(2) Sri Ganganagar (2) AR
(3) Ajmer (3) 3I™ER
4) Jodhpur @) SRR
31. The author of the book ‘Geography in the 31. 'SR 9 § <@lfcdy ¥ TR &
Twentieth Century’ is - oEEw & —
(1) Huntington (1 Efreq
(2) Griffith Taylor (2) fuftser 2o
(3) A.J. Herbertson 3 U ﬁ ggi—é—\q:f
(4) Carl O. Saver @) bl & R
32. Durand line joins India with - 32. <€ @ 9RA & fhue 9R1 Sedl 87
(1) Bhutan 1) <=
(2) Myanmar (2) WFR
(3) China 3) @
(4) Afghanistan (@) ITHITIRRER
10- <X Page 7 of 32
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33. According to Weber, where should the industry 33, &R & IUR, TR {AFI® & 8 W
be setup to maximise profit, when the material AfeFad o & foig ST 9 RIUAT BBl
index is one? 2 TmRe?

(1) At the source of raw maferial (1) & 9 B 9id W®

(2) Inthe market 2) I9R ¥ J
(3) Between the two (3) TEl D T

(4) Anywhere away from the market @) FE A IER 9T

34. Which one of the following is not correct about 34, WU AFYGH © T & FfaRaa 4 9

the Indian monsoon? P 8 T8 77

(1) Indian monsoon is a planetary wind. (1) WA 9FET 96 U8 99 =4

(2) There is a complete reversal of winds (2) “RAT STEE" § = v A% o
after every six months in Indian sub- TRl BT B Ok el Ol &
continent. () U= o1 OR, 99T B AT B

(3) The platean of Tibet influences the ST e 2
arrival of monsoon.

4 NN ﬂ

4) ‘Monex’ is related with the research @ Hmc_m T A >
expedition of Indian monscon. TEEIT ST A E

35. The ‘Sandur-Hospet’ area is famous for iron- 35, ‘H@R—gi€e’ &3 dig—aws @ e & fog
ore mineral. It is located in which district of TRIE | U8 $Acs o fog e § Reg
Karnataka? 27

(1) Tumkur (2) Shimoga (1) TR (2) PBEmr
(3) Ballari (4) Dharwad k)] —g'm @) oRdgS

36. From given points related to mixed farming, 36. AP PHiY | e ﬁlgaﬁ CIRCTE A AR
select the correct answer from the code given HT I Fel SR BT TG BIfo1g —
below - A. R, fOvg & weite et

A. Largely practised in highly developed I H P ST B
Parts Of the WOI'ld. B. q;ﬁ_q@ B PN =29
B. Farm size is moderate C. TRT B ﬁ‘é‘ S osiew wE
C. Fodder crops, wheat, barley, oats, rye sonf, W wnd & ' Y
etc. are grown : )
D. TR R A Yol faw
D. Low capital investment on farm 71 S
. R —_
machinery s
Code - (1) FaaBaC
(1) OnlyBandC
@ ABamdC 2) A,BTIC
, B an
3) ®ga CTAID
(3) OnlyCandD o
4 B‘qﬁiﬁi’
(4) All given above @
10- £ Page 8 of 32
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37. Which is the correct sequence of the idea - area  37. ‘813 UH®U RIg e — & STl i
chain of “The Unified Field Theory”? TEI IFIFA BT 57
(1) Political idea - Movement - Decision - @) oFRE AR — e — e
Political area — SIS &
(2) Political arezli- Movement - Decision - (2) <o & — e - o —
Political idea NSRIICRCEI
(3) Decision - Political area - Movement - 3) folg - ToFife & — ifaes —
Political ide&il NI EIRCT I
(4) Political ide? - Decision - Movement - @ <R R - fofy — e
Political area — YoRRE 8
38. The “Uniformitarianism’ concept was givenby 38, W% &c+ q THeUaEE’ Hhedd qy
James Huttoninthe year .............. . 7 URId B
(1) 1865 (1) 1865
(2) 1765 (2) 1765
(3) 1785 (3) 1785
4 1885 4) 1885
39. Which of the following is not a characteristic 39, Fr=ifoRaa & & S==A1 wonell &1 {3
of a system? el 87
(1) Definite objectives O e sew
(2) Interrelationship between elements (2) T ¥ araddy
(3) Posses boundary @) IR A S g
(4) Static in nature @ Rer ;@%
40. “Serrated Ridges’ is a relief made by ............. 40. TIGR TR (RRTE TTD) e
(1) running water T ST 1F e B
(2) underground water (1) S=Ear v
(3) wind @ g S
(3) dHad
4) glacier @ e
41. 'Which among the following group of countries 41, Fr=ifeifaa & & f5= = @1 wvg 2021 9
have been top producers of Bauxite in 20217 giedTgc Jedied | Y U¥ @7
(1) Russia, U.S!A., Greece, China O w9 9 . mdE, B, 9
(2) Brazil, India, Jamaica, Indonesia (2) wehe, 9Rd, SHE, SSHRET |
(3) Australia, Guinea, China, Brazil 3 @'@m el 499, ahe |
(4) Jamaica, Russia, U.S.A., Guyana @ i 4, 9 W0 SR, T
42. Tn the year 1926, which society from the 42. fr=fead # & fby dem @1 wueT EL]
following was established in University of 1926 ¥ Aar fazafienea # g8°
Madras? (1) 7 sfews <Ornihoa ARITSC
(I) The Indian Geographical Society @ = A TraEe affe i
(2) The Geographical Society of India (3) T IFHT SOUIEEA aEEe
(3 The Decca lGeographical Society @) YeFe WEfhed ANEd e
(4) National Geographical Society of <fem
India
10- £ Page 9 of 32
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43,

44.

45,

46.

Which of the- Tollowing centre of iron and steel  43.
industry is known as ‘Rust Bowl of U.S.A.’?

(1) Lorain (2) Pittsburg

(3) Erie (4) Morrisville

Which of the following pairs are correct 44.
according to the 2011 census?

State Characteristics of
population
a. Maharashtra - Population density
over 1000
b. Himachal - Least urban
Pradesh population
c. TamilNadu - State with high sex
. ratio
d. Bihar - High percentage of
the urban population

Select the correct answer using the code given
below —

(I) bandc (2) aandc

(3) bandd 4 candd
Which of the following methods are used for  45.
locating the plane table station?

(a) Resection

(b) Radiation

(c) Traversing

(d) Intersection
Choose the cormrect answer using code given
below —

(I) bandd

(2) bandc

(3) aandc

(4) candd
“Geography is the Science that deals in the art  46.
of Map Making.” This statement was made
by -

(1) Anaximander

(2) Eratosthenes

(3) Strabo

4) Ptolemy

frfolaa & 9 9 < el & f5g aEr
SHM 7% P YTEY. S ST BT PRI B
M A ST ST 87

1) <= 2) frewet

(3) =9 @ HiRafRer

Y 2011 B SFATOFT & SER B #§ @

B g GE o7

T TG AR

a. TENE - U6 FOAR W %
ST

b, fRame - oW TR SEEEr

L]

c. affeArg - S= foTEUT e
IR

d. f&r - TR ST BT
Gz R E

A RY T e & W B OGE SR

T —

(1) baixe () a3ixc

(3) baiRd 4 caird

©F 29 WIM B Rufd o1 PR s

& ferg fFreafoRaa & @ fore R @1 SudF

T <irem &7

(@) Reft R [{F

(b) fafep=or fafey

(c) <mHor fafer

(@) ufd=eT Ofy

AR RU U BT BT T R OGS TR

gL —

(1 b3IRd

(2) baiRc

3 adRec

@) ca3fiRd

"Eiied 98 RsE 2, W) weRE e @
Pl § DY Bl 21 IS DA o —

1) IFATCHHTSR BT
2 TERET o
(3) T @
() Sl B
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47. According to Indira Gandhi Canal Department 47,  §fa¥1 Wil =R fWRT (IO RIM WRBR) &
(Government of {Rajasthan), what is the aER, feore ARl B Fa @9rs fBaAr 3
approximate length of total lift canals (GJ,FIE' 2022 & 31—:1)-\111-\:)?

(according to July 2022)?
(1) 1020.24 km @ 1020.24 f&.
(2) 1495.45km 2) 149545 fsAL
(3) 2090.00 km (3) 2090.00 &4
@ 2515.90km @ 2515.90 &4

48. Venice, known as “Queen of Adratic” is 48. aFw FF ofgaecs & =i & M 9

located in - I G &, SERer & —
(1) Austria 1) siiRew &
(2) Greece 2 W
(3) North - East Italy @3) TN - q\é‘ sE?'n' 'ﬁ{
(@) Sicily (4) afrel o

49. According to Human Development Index 49. TP 2020 F W,
2020, which of the following country is not ﬁ'l:lﬁv‘[ﬁilﬁ ¥ oy <v W g9 g o
included in the top|ten countries? wftafera &l 87

(1) Iceland (1) JEGes

(2) Denmark 2 =T

(3) Sweden 3) e

(4) Finland @) frids

50. Positive Reinforcement - 50. W\HERAD YAder —

a. Increases desirable behaviour. a. TIBY FGER TG B |

b. Decreases desirable behaviour. b, 9B HGER HH BT 21
¢. Decreases undesirable behaviour. c. QAP AER &F Bl B
choose correct option from the following - aE ded g —

() (a)only (1) a9 (2) 9 &

(2) (b)only (2) 9 (b) W8 &

(3 (c)only (3) 9 (c) W &

(4) Both (b) and (c) @) (b) TG (c) T G& &

51. Match List] (Irrigation Drinking Water 51. ¥di-1 (RER—uasia aRaemn) o gEi—1I
Project) with List-Hl (River) and select the ) Jq ﬁqﬁ;m BIRTT AT B BT FANT B
correct answer using the code given below - T W R — ¢

A Im}" lzt_lf'ft 1 a. G Ll;;t'-rliiiver G-I I
. 1T, 1 . AIT oIl
Project A 'a'm ﬁ’WFC’ a ﬂ“ﬂ? ?I'c?f
B. Navnera b. Banas River RIS
Barrage B. ORI SRS b. N &
C. Ajandam c. Chambal River C. oA df c. TS Tl
D. Isardadam d. Kalisindh D. SaOver g d T g T8
River Fie —
Code - A B C D
A B C D
(1) c d b a (1) c d b a
2 a b c d 2 a b c d
3) c d a b 3 c d a b
4) a c d b @ a c d b
10- & Page 11 of 32
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52. 'What was the correct sequence of ice ages that 52,
comes to Noith America during the Pleistocene
period?

(1) Kansan - lllinoian - Nebraskan -
Wisconsin

(2) Nebraskan - Kansan - Illinoian -
Wisconsin

(3) Wisconsin - Kansan - Illinoian -
Nebraskan

(4) Kansan - Illinoian - Wisconsin -
Nebraskan

53. In the Koeppen’s classification of climates, the 53,
‘w’ word represents -

(1) dry winter season
(2) dry summer season
(3) autumn season

(4) monsocon climate

54. In a given map 4 sq. cm represents 16 sq. km, 54.
the R.F. will be -
1) 1:4,00,000
(2) 1:2,00,000
(3 1:1,00,000
(4) 1:8,00,000
55. As per United Nation’s “World Population 55.
Prospect 20227, the world population is
expected to reach 8 billion in -
(1) 2026
(2). 2025
(3) 2022
4) 2024
56. An article, ‘An Essay on the Principle of 56.
Population’ was published in 1803 by -
(1) Thomas Robert Malthus
(2) Thomas Daniel Malthus
(3) William Walter Malthus
(4) William Godwin Malthus

R g7 @ R S RRaET § 3y
TR A BT WEl HH 4T Aq7?
(1) FEH — geelFlgT — "HhT —
frepit~a=
(2) SIRFT — FAF — Seol|IgT —
faeepif~as .
3) it — =M — SeaiFIgT —
AR
4) TN — SeeiFRT — fAwpif~aT ~
HIRD
PIUT & SRy eIl | “w’ g YR
Pl o—
(1) I 99 *g
(2) s A= kg
(3) Ua=s *y
(4) W SleaR]
U qFRAE R 4 99 I/, 16 9 BT <30T
8, o AFRA $1 4/ (RE.) 8 ~
(1) 1:4,00,000
(2) 1:2,00,000
3) 1:1,00,000
4) 1:8,00,000
YR rEay Bl Tave Sy 9
2022" & AR, v # THEw 8 IR
R B BT ATA & —
(1) 20267
(2) 20254
3) 2022%

@4 2024 %
TGS RIgid R Ua = e 9 67

UHTEF 1803 H ..o, BRT fbam w3y |
1) oy e At

(2) o S T
3) faferam grex ae™
4) TRfems TfsfaT arem

1
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62.

58.

59.

60.

61.

Which of the following pairs are correctly 37.
matched?

Cement Unit Place

a. A.C.C.Limited - Kharia

b. AmbujaCement - Rabriyawas

c. J.K.Cement - Nimbahera

d  Shri Ram Cement - Beawar
Code -

(1) a,candd

(2) bandc

(3> aandc

4 b,candd

‘Which one of the following sequence of cities  58.
are correct, when travelling across the Trans -
Canadian Railways from Eastern side to the
Western side?
(1) Quebec - Oftawa - Vancouver
Winnipeg
(2) Ottawa -
Vancouver
(3) Ottawa - Vancouver - Winnipeg
Quebec
4 Quebec -
Vancouver
The ‘Death Valley’ located in ............eevven. 59.
is an example of Graben.
(1) Southern Arizona
(2) Southern Colorado
(3) Southern California

(4) Southern Texas

Hero worship is a feature of which stage? 60.
(1) Infancy
(2) Adolescence
(3) Early childhood
(4) Adulthood

Identify the canal passing through the Gatun  61.
Lake -

(1) The Suez Canal

(2) The Kiel Canal

(3) The Gota Canal

(4) The Panama Canal
“No vestige of a beginning, no prospect of an  62.
end.” Who has given this concept from the
following?

(1) W.M. Davis,

(2) James Hutton

(3) Alexander Von Humboldt

(4) Bernhardus Varenius

Quebec - Winnipeg

Oitawa -

Winnipeg

7

T A | B gl 57
HHUE SH1E I
a. UE fafes - @Ra
b,  3FgaT HAT —  YEfEIErE
c. O & W< — g
d. HRM dH< — &R
R_
(1) a,c RO d
(2) bW@ic
(3 aTwic
4 b,cTTd

UR-$HARTT Vel & gl 9T o ui¥es
AT B WG AET B W TR Bl
fraferRed 3 & PIFT aTgHy Tel 87

(1) TP — 3Merar — dgaw — fAf

(2) SiemEr - Fgad — AR — dgaR
@) e — dage — v - T
@) ®EE — erEn — [T — fag

@ &Rl <

TR Yol e SRl ol forivar 27

(1) R

(2). THARERT

3 Y IEen

@) dierEen

e A A TG Towd diell A8% Bl
T BT —

(1) &Y TR

(2) I TR

-@)-- TIET TR

@ IFHHT\?E\B‘\‘ —— T T
" A AR BT bl e 8 A B B
BIY M B 1" ﬁwﬁf@ﬁﬁﬁww
e &Y o7 N

(1) =g T SfEAY
(2) ﬁra B o /
(3) dric'icl\ﬂ“G( El'ﬁ' E'-“GIIC'C

@) sEe IR
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/

&7 THeudl @ Migra o ufdufea feaer /

63. Unified Field Theory was propounded by - 63.
fepa?
(1) Gottmann (1) Tifeia /
L //
(2) S.B.Jones 2) TE. 9. S
(3) Hartshorne 3 =T
(4) None of the above @ SR H Y DY 6
64. The world famous Bikini Afoll is a part of 64. 199 URIE RFA TEE v BT
.................... W |
(1) Aleutian Islands (1) AR ST
(2) Marshall Islands @) RIS g
(3) New Caledonia Islands G = bferetfrar giaw &
(4) Vanuatu Islands 4 argerng Q‘IEIEHE
65. Statement - 65. HAT —
(@ This soil has a high percentage of (@ 9 9aT H 7 &7 gioea st s)m
clay. ' 2l
(b) This soil is found in the district of (‘b) 'qg]iﬁ'[ SATdrs, ai‘('iqlé_l, Ch\lc'.i, T;ﬁ
Jhalawar, Banswara, Kota, Bundi etc. anfe foret #§ ferh &
On the basis of above statements, select the IRTT FUE] @ A[R T T2 BT TR
type of soil - TAMET — '
(1) Enﬂso_ls @O T
(2) Inceptisols Q) TSR
(4) Vertisols @) adied
66. “Human Geography is the synthetic study of 66. "AFd [ Ad WA R eR@ P g4
relationship between human societies and el T G¥ida I B | iR A
earth’s surface.” Who has given this definition ¥ 99 :q;rﬁa B gg gREmT e <) 27
of Human Geography from the following? _
(1) Ellen C. Semple (D T AL o
(2) Paul Vidal de 1a Blache (2) dia s St a1 e
(3) Friedrich Ratzel () wsR® Yeua
(4) Alfred Hettner (4) 3FhE BN
67. Which of the following river groups does not  67. Fr=ifeRea =) wgi & & 59 aug =
have its origin in Rajasthan? S RICT YN # & 87
(1) Sabarmati - West Banas - Jawai -Khari (1) EREA — U 9N — Sdig — @Ry
(2) Som - Mansi - Wakal - Jakham o
(3) Gambhiri - Parvatt - Kalisindh - @ "
Parwan (3) TRIR — U — @l Rig — wae
Chandrabhaga ’
10- £ Page 14 of 32
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As per classification of climate by
Thornthwaite, which of the following is not

matched correctly?
Climate type Abbreviation
Tropical humid - BAT

(I) climate inadequate
rainfall in all seasons
(2) Tropical sub-humid
climate with less
rainfall in all seasons
(3) Tropical humid - BAw
climate with winter
rainfall
(4) Tropical semi-arid - DA
climate with deficit
rainfall in all seasons

CA'g

68.

ffaiiaa # | i gafem w8 87
SGEREEEI PR

(1) 9 FiceeT 3ME - BAT
TR, | A H
wY U

(2) S Hicg=I 39 - CA'g
TS STerary, A
HE § 79 98]

(3) S Bica=i & - BA'w
STerary, Tadre H
ELi

@ T Ficay - DAd
HE-Yh STerary,
w4 HeE H B an

69. Who among the following is not associated 69. =fiRag & & ®i= "d= Rewr @ ften
with the development of “System Analysis”? q Hag T8I o7
(1) ChorleyR.J. (1) =l IR S
(2) JamesP. (2) = UL
(3) Harvey D. @) 'L
(4) Freeman N. M. @) I T
70. Which of the following ocean currents is warm 70, Fi=iloifEd § | Sl TERITRE 9RT T
in nature? TPHIT Bl 57
(1) Oyashio current 1) MR g
(2) Agulhas current (2) <Y GRT
(3) Benguela current (3) ST R
(4) Humboldt current @) TEIeT UN
71. Insurance is related to which of the following 71. fA=feRaa # 1 dHr &7 Hder fory Far &
service sector? 9 87
(1) Primary (1) R
(2) Secondary (2) fe<iaes
(3) Tertiary (@) e
(4) Quaternary @) agds
72.  Who is the author of the book ‘Mental Map’? ~ 72. ‘A<d AU TR © o@F & —
(1) Lowenthal David and Orr L. B. 1) <R Sfds ger iR ve. 9
(2) Wolpert J. and Nick M. (2) e o @R e .
(3) Peter Gould and Rodney White (3) Y TiSes el JsHl ®ige
(4 CoxK.R. 4) PEE B, AR
73. Which one of the following is a 73. frafeREed 4 ¥ FU & L-JAINAD
geosynchronous satellite? TUUE &7
(I) LRS. 1) LRI
(2) INSAT (2) T
(3) LANDSAT @) wisde
4) SPOTHR.V. @) e TIARAL
10- £ Page 15 of 32



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON
Google Play

74.

75.

Standard Deviation is calculated from - 74,
(1) Range only

(2) Arithmetic mean only
(3) Median only
(4) Mode only

Match List-I (soil) with List-II (Found in area) 75.
and select the correct answer using the code

]

fafofag § 9 a9 7o fQgaa @
TOMT B SRN 87

(1) o9d R/ RN 9

(2) dgd THIGN HEY ¥

(3) dad ARIPT ¥

4 o9d 9IS |

ga-1 (a7 UeR) 1 FE-1 ( WW)
B GAferT HifvTg T S (Y T, FE 9

given below - & SR g ~
List-I List-IE -1 -1
(Soil) (Area) (T UBR) (T ere)
A. Laterite soil a. Chhota A. a‘éq-rs—c’r ';131' a. gﬁ-gr :{T"TT{
Nagpur B. i b. HERTS
B. Saline soil b. Maharashtra C- NS ﬂ%ﬁT C' eHEeT Y
C. Black soil ¢. Rajmahal ' ’ N
Hills D e d. @ Wy
D. Red-alluvialsoil d. Kutch region - S kSl :
Code - @ -
A B C D A B c D

@ d c b a 1) d c b a

2y d c a b @ d c a b

3) ¢ d b a 3 c d b a

@ c d a b @ c d a b

76. Who is credited for the preparation of a world 76. U®ell §R THAIT @I & Ry fIva wFfes
map with isotherm for the first time? TR B BT S Y S 87

(1) Blache (1) =m=r

(2) Humboldt (2) TRl

(3) Huntington (3) gferes

(4) Ratzel @) Yeord

77. Consider the following statements and select 77, f=feiRag sl W faar ifSe den o
the correct answer using the code - BT TANT B T SR AT —

a.  The Southern Aravalli region includes 2.  =ROY eRmEel uew § RRE TEAR
the districts of Sirohi, Udaipur and 3R T R aRal %fl
Rajsamand.

b.  Mount Abu is about 1700 metres above b & T WK T ¥ ST 1700 Hex
sea level. & ] -

c.  The main peaks of Mount Abu are Ser, c. g ydd Eﬁf g AT IR, TG,
Achalgarh, Rishikesh and Guru % vd "{RTQI@? 21
Shikhar. ﬁ —

Code -

1) a, bW c

(1) a,bandc 223 I —_—

(2) onlyc

(3) onlya (3) @de a

(4) aandc 4 adelc

78. Which of the following is NOT an Azimuthal 78. frifoiRaq & & PIen & g faem vem
Projection? T8l 87

(1) Cylindrical Equal Area Projection (1) 91PN THEH HaT

(2) Polar Zenithal Equal Area Projection (2) gd9 Tay THAS U

(3) Polar Zenithal Equidistant Projection (3) a9 ST GHGRRT UG

(4) Mercator’s Projection @) ¥FHR wE

10- X Page 16 of 32



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

S

79. Which of the following country is associated 79, fr=faiRad & § @i <9 "o\ WM
\ with ‘Shamal’ local wind? Ug & G9ed 87
(1) Brazil )] m‘eﬁ'a
(2) Iragq (2) 3_\’@;
(3) Mexico 3 AP
\54) New Zealand @) goiicis
80. Who was the first to state, that the climateisthe  80. Hduern fHas ¥8 weF feur o1, &
main determinant of history, culture, way of sfiem™, ¥R, Siiaa ugfa aur @gaw
hfe and occupation? Sear] §RT eI g 87
(1) F. Ratzel (1) T&. Ieod
(2)" A.V.Humboldt (2) T gEeT
(3) E. Huntington 3) ¢ gfewes
. 4 E.Semple @ 3. Hua
81. Which one of the following is an Aeolian 81. Fr=faiRed H ¥ PN TF TG IJFWIE!
sedimentary rock? TEMA 87
(1) Loess 1 dE
(2) Shale (2 I
(3) Sandstone (3) SIgPT YR
(4) Moraine @) AT
82. During the communication process, the 82. ¥IR Ufha & IRM FIW DI TF TADIAD
message is converted to a symbolic form is wq 3 uRafia w1 SEaar & —
called - .
(1) Decoding D ST
(2) Encoding @) GRS
(3) Channel @) A7
(4) Feedback @) wfgie
83. Which of the following is not comectly 83. fr=ifeiaa # & s gafer «df 87
matched?
(1) Kalisindh River - Jhalawar and Baran 1) wrel R 6 — S 9 R
(2) Brahmani River - Tonk and Bhilwara ) wrErf 96 — e vd g
(3) Mej River - Bhilwara and Bundi (3) ¥ L — HewareT w9 il
(@) Kothari River - Udaipur and Bhilwara @) BRI & — ISAR Td Hewdrst
84. Which of the following is an incorrect pair? 84. fr=foRea # | wisar wag w9 87
(1) Observational learning - Bandura (1) EEET A’FH — qogy
(2) Theory of meaningful verbal learning - () iyl s =iftrm o1 figr -
Thorndike o<
(3) Theory of operant conditioning -
Skinner (3) wfsha argEeM &1 g — R
@ ghef)ry of classical conditioning - @ =i SR B RIETFT — 91aaid
avlov
85, In which of the following scale, distance could 85. HAM eus 1 w F=feRaa § & 59
be measured more precisely assuming same BIEETIC R B At I | R @
R.E.? Hepa 87
(1) Plain Scale (1) SRR 979+
(2) Time Scale (2) 9" AO
3 Rc_:volution Scale (3) TF AN
(4) Diagonal Scale @) R® Ao
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86. Which one of the following pairs is not 86. TFfciRad THAl § | HIAT TP Hal FHloIT
correctly matched? T8l 87
Coastal region Type of climate TR aS:™ SEEICEEEIN
. of India (Koeppen’'s) 5E| (BIUT) ‘
(1) Malabar Coast - Amw (1) ¥IER ¢ - Amw
(2) Coromandel - As (2) PREVET T - As
Coast Bieput
(3) Konkan Coast - BShw 8; ma;a _ iShw /
(4) Utkal Coast - Aw
87. TISCO was setupin - 87. T & e 5w a¥ 3 §§?
(1) 1906 (1) 1906 /
(2) 1907 (2) 1907 .
3 1908 (3) 1908 !
4) 1909 4y 1909
88. Match List-I (Philosophical approach) with  88. q-z?r—l (grite Surm) ® gE-1 ([Agm
List-II (Scholar) and select the correct answer gﬁrﬁ‘-l\—-[ BINIY Il BT BT TUYINT B3 HEl
using the code given below - IR FEY —
List-I List-IT I 10
A. Behaviouralism a. R.Peet A g?w a ;—,@ el
B. Quantitative b. O.HXK. Spate B. WS i b, 3l va @ Qe
Revolution IRy IR
¢ C Ridicalism c. William Kirk g g d A aéfﬁg
+ « = D. Probabilism d. I Burton &Tc’ _ )
Code A 5 o 5 A B C D
an d ¢ b a a d c b a
(2) c d a b (2) c d a b
3 c d b a B3 ¢ d b a
@ d b a c @ d b a c
89. As per the Elastic Rebound Theory, tectonic 89, WIRel Hfdgy fgra & 3R s
* earthquakes are closely associated with which Yl o1 ffoiaa & < fo wifafaftmt &
of the following activities? Frpcadl T 27
\ (A)‘ ‘Eaulting (B) Folding (A) U3+ (B) ToM
(Cy  Volcanic (©) WTﬂ'@'
Select the correct answer using code given 2 23 R P BT STENT BT GE 9N BT
below - T T _°
Code - @ —
(I) Only (A)is correct (1) ST (A) TE &
(2) (A), (B) and (C) are correct @) (A), (B) T (C) T& §
(3) (B)and (C) are correct @3) (B)TT (C) u ¥
(4) Only (B) is correct ) dae B)TD &
§,-9f). “The table of nature is laid for a limited number 90, “Wfa ® WM &) 49 AT el @ forg
~ of guests and those who come uninvited must T o a1 Feae & oM arel @ iaed
" starve.” This statement was given by ........ @I RAT US| FE B ..o g fear
(I) John Locke e
(2) James Stuart (1) SiF <
(3) Malthus @) S T
(49 Thomas Mun ! gg Tﬁﬂﬁ
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91. Match List-I (Natural Disaster) with List-I 91.
(Area) and select the correct answer using the
code given below -

List-I List-II
A. Flood a. Foothill region of
' Himalaya
\ B. Draught b. Uttar Pradesh and
: plains of Bihar
C. Cyclone c. Jharkhand and
North Orissa
D. Earthquake d. Middle Eastern
) India
Code -
A B C D.
1) b C d a
(2) b d a C
3) d c b a
4 d b a c

92. Who proposed the Glacial Control Theory 92.
related to coral reefs?
(1) Daly
(2) Murray
(3) Agassiz
(4) Gardiner

93. Match List-I (Regional Blocs) with List-II  93.

(Member Nation) and select the correct answer
using code given below -
List-I List-IT
A C.LS. a Azerbaijan
B OPEC b  Sri Lanka
C SAFTA ¢ Malaysia
D ASEAN d Nigeria
Code -
A B C D
1 d a b c
(2) a d b c
3 d b c a
4 a b c d
94. The apex body for agroforestry in India - 94.

(1) Ministry of Rural Development

(2) Ministry of Environment and Forest

(3) Ministry of Agriculture

(4) Ministry of New and Renewable
Energy

?ﬁ’f—l (R anuar) B GE-1 @) @
ARl GAled PIfSIg T T BT TIN PR
HE I DY

-1 11
A T a. fewurerm fiRue &=
B. ¥@ b T WY U9 fIER
e
C. Thdid c. FARGTS Td T[N
EXIGH

D. & d 7= i 9Ra
ZE\E'_

A B C D
@ b c d a
2 b d a c
3 d c b a
4 d b a c
yarel ARt | Hdta fawmg e Rigia
e fear on?
(1) o
@ =,
(3) NN
@ wTER
-1 Gl wE) o g@-1 ([G5@
) B GrRT G BIRTY TRl A 3y g
HE BT UANT B HEl SR gHg —
-1 -1
A gy a  IIGRAGI
B 3U® b ST
C e c AR
D REE d -ESiRkar
E}Z\E_
A B C D
1) d a b c
2 a d b c
3 d b c a
4 a b c d
IRG # FY AP B fow oY Ao g -

Q) TEY e d=er

() yIERvr TRAT 95 A

3) P F=Ter

@) O IR TEHEY Sl G
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95. The Hadley cell is formed between which two 95,
air pressure belts?
(1) Equatorial low pressure belt and sub-
tropical high pressure'belt
(2) Sub-tropical high pressure belt and
sub-polar low pressuze beit
(3) Sub-polar low pressure belt and polar

high pressure belt
(4) Sub-tropical high pressure belt and
polar high pressure belt

96. 'Who is the author of the book ‘The Unstable 96.
Earth’ from the following?
(1) IJ.A. Steers
(2) Sir George Airy
(3) W.M. Davis
4) Alfred Wegener

97. “Bigger the column, lesser the density, smaller  97.
the column, greater the density.” Who gave this
concept from the following?

(1) Bowie
(2) Hayford
(3) Pratt

@ Airy

98. What was the total number of cities in 98.
Rajasthan in the year 2011 with a population of
over one lakh?
1 20
@ 25
3) 30
4 35
99. Which of the following ancient city was the 99.
capital of Mesopotamia and had a Hanging
garden?
(1) Athens
(2) Lagash
(3) Memphis
(4) Babylon
100. Which of the following is a feature of C. A. L ?

(1) Learner controlled instruction

(2) Delayed feedback

(3) Uniformity in methods of instruction
(4) Teacher pacing

100.

el BRI BT FET 359 € ageE

ufedt @ ey eI 87

W) fagede fre argeE 9
IUWT Joa IYRE Ul /

(2) SUIYT 9=a 9EE U vd Su-dH
o argeTe ud /

(3) - Fr AT T g
I aiged Ul

@ vchmrmmgmﬂé’magéiﬂﬁ
argeE 9

frafafied § @ < ercaa o gwe @

TE® DI &7

@O < v ER™

(2) W uiSi g

(3 sy @ ==

@) JITHE TR

"SIl IR, BE T, AiEl W, SifEs

e [ Frfafiaa § I I8 daeu fem

17

(1) 9

(2) THe

(3) e

@

T 2011 # oI ¥ B G 9§ Sivie

STIGRET et SEIRI B e off —

(1 20

(2 25

(3) 30

@ 35

frafoReg & 9 o9 IEN IR

a1 or?

@ W=

(2) <=

3 #fww

@ &

frafofas § 9 @9 9L T . & W%

I &7

1) efrEal FERET sERIE

(2 fdfa gfigfe

3) FSTE © WD § [HHUdl

@) e e

GET IT ON
Google Play

10- £ Page 20 of 32

|



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

.......................

(2) faults
(3) cracking
. (4 crustal fracture

white collar workers make up a large share of
total workforce?

(1). Pharmaceutical Industry

(2) Food Processing Industry

(3) Fon 4nd Steel Industry

(d) Cofton Textile Industry

scale is correctly matched?”

R.F. ~ Statement Scale
1) 1:1,02960 = 1Mile, 6 Furlong,
” - 86 yard
for 1 22) T:1;04,7600 = 1 Mile, 5 Furlong, 50
yard
(3) 1:98,372 = 1 Mile, 6 Furlong,
30 yard

4 1:1,36,520

1 Mile, 7 Furlong,
180 yard, 3 Feet

intelligence following statements are given.
Select which one is true?
(1) Emotional intelligence is not powerfal
than IQ.
(2) Person having high emotional
intelligence likely to succeed in
everything they undertake in their life.

(3) We may not be productive and happy
after knowing .our emotional
intelligence.

(4) Success in academics cannot be
predicted by emotional intelligence

i - measurement.

information processing family?
(1) Role playing model
(2) Concept attainment model
(3) Conceptual system model
(4) Social simulation model

\ :101: (“Symmetrical’ and “Asymmetrical’ are types of 101,

102. "IP which .of the following types of industry, 102.

103. Which of the following R.F. and statement 103.

104. Regarding  importance of  emotional 104.

105. Which of the following is an example of 105.

PR & |

1) 9Ie

@) Uy

(3) =THA

(4) mgg fair

e 4 @ 59 UBR & S # Ga
FHARAT § ¥ APg PR FHARGT BT
e waifere grar 872

(1) wARCHA SE

(2) TRl TRIRHNOT SENT

(3) T TN ST ST

@ i aE s

AfaRea 3 9 oF @ foue = e

W WU BT G WSl gAfera 8¢

eue e B AT

(M 1:1,02960 = 19,6 BT 36
Tl

(2 1:1,04760 = 19,5 BaT 50
K]

3) 1:98,372 = 194, 6 BeIT 30
KIS

@) 1:1,36,520 = 19,7 BT
180 7T, 3 WIE

s Jfewar & Agd @ gRwr d
frfafeq ®em 3 W™ & 98 @M
PIT B? TEH BTG —

(1) Homee g AR, (IQ) ¥
a1ty wIRmael el &

(2) <= Honeie giEw aen af
I Wlew # o g5 o T g
ST A B B dwraer il 21

(3) T T HAMHT Gy P T D
918 I<aed U9 GRT T8l 8] 9 & |

) damead gig A o Reafaeh |
HHeldl & dlasEr 98 H W
el 2|

FrfaRa & 9 S I i o @1

SRR &7

1) e FatE ufomms

(2) HU™T SUafer wiowE

(3) UI YuIlell WM™

@) rRTe e ufikEr
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106. The conc'm pt of Zone of Proximal Development 106,  F¥HIT%e] {de14i &5 (ZPD) BT AR ﬁu‘\‘l‘c’# /

(ZPD) was glven by whom? ELUURET

@y P1aget,__ N () frw /
2) A,éandure ) (2) s //

@) _Vygotsky ' ®)

) Skinner @ Rew ;

107. Study the facts related to literacy in Rajasthan 107. a§ 2011 & GFFIUFT & S gishel &
from the ﬂnal ﬁgures of the 2011 census and JoTRA B 9ERAl ¥ 9 e &
select the ,correct answer using code - IR PIT T2 98y R B ] gﬁq -

a.* The: literacy rate of the state has 4. VY 9] ORENG €8 § g &9 q97.4
increased by 5.69 percent in last 10 5.69 ufererT % gf €8 &
yéass. b. To ¥ uF gf 8.25 eI Afdeneit ¥
b. Tlus ‘inc;eaSe for men are 8.25 and 3.50 3,50 FRYEd 2
~ :perceiit for women. . f
c. .:)Jal'o’re_ district had the lowest, while c. SR ‘ﬁk‘*\f i L m 291
Jhurjhinn  district had the highest
“literae’y' rate. " T )
d. ~ Total literacy rate; of the state was d. W d FE AR 66.1 o
o recorded at 66.1 percent. SifT B T |
Code - R —
(1) ~dandd (1) asemd
@) a,candd (2) acTrd
(3) c,and:d (3 ccend
J(4)- ~only d- 4) @ d

108. The ‘Water,, (Prevention and Control of 108, Uil (Uquoer farer e Frgsmr) rferFRe

~P011utiqn)‘.A‘et-Was énacted in - I B2 o1 —
a 1977 - aQ 1977
) 1982 (2) 1982
3 19794 - (3) 1974
(4). 2006 4) 2006

109. Hayden! has classified the races on the basis of 109. TST 7 U TP .ovcromeremosersens # Bl Br
hmrmhlsbook .................. g@anawwqmﬁmﬁmwmm
1) Anthmpoiogy (1) TSy

(2) Races -of Man () W i &9
(3) The Races in Europe @) T W = Tﬂq
‘ @) J‘I‘he Racml History of Man @) = RrE R st 7
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$110. Statement -
(a) The rainfall in this region ranges from
\\ 500 to 700 mm.
(b) The soil is lime - rich loamy and
alluvial.

(c) Bayjra, arhar, jowar, wheat and mustard
are the main crops.
(d) Ravine land is also found in this region

‘On the basis of the above statements select the
district group included in the agro - climatic
region -
(1) Ajmer - Jaipur - Dausa - Tonk
(2) Alwar - Bharatpur - Karauli - Sawai
Madhopur
(3) Kota - Bundi - Jhalawar - Baran
(4) Dungarpur - Pratapgarh - Chittorgarh
- Banswara
Nag Pahad is located in -
(1) Ajmer
(2) Udaipur
(3) Pali
(4) Jalore
Which one of the following sequences
correctly represents the percentage of salts

found in sea water in decreasing order?
(1) Sodium chloride, magnesium chloride,

magnesium sulphate, calcium sulphate
(2) Sodium chloride, magnesium sulphate,
calcium sulphate, magnesium chloride
(3) Sodium chloride, calcium sulphate,
magnesium  chloride, magnesium
sulphate

(4) Magnesium chloride, sodium chloride,
magnesium sulphate, calcium sulphate

111.

112.

110.

111.

112.

B —
@ 9 &% ¥ 500 9 700 . g aui )

BT &
© 'su\rw_t,gwse, R, g, T AvEl I

[

(d) =¥ &= § digs 4 A o ol &
Wwﬂ%mw@mm
# i Rel g B auT B

(1) SRR — SR — 3N — Tid
(2) AR — RAR — P& — B

=~

3) Bl - g1 — SIS — gRi

@ %‘l?ﬂ? e — Rrileie —
TrIaTST

ANT USTS el J[aRed &7

(1) 3R

(2) STAR

3) el

@) TR

e & 9 ST 9 |gEl of A UIg

T FGUIT B Eed HH H I B GE e

| ST 87

(1 W FREe, FHRE RS,
N3N Aothe, diegrad debe

) wifeTd FwnEs, FNREE gobe,
Biczm Towe, FIRrY wiRES

(3) <ieTH JERES, dfeerm Fowe,
NIV e, AR

@) FTRRY wRES, AfSyH FENEs,

113. Which one of the following is not matched 113. fr=fafaa # & wiaar gafem =18 82

correctly?
Topography Location
(1) Telegraphic - North Atlantic
Plateau Ocean

South-Eastern
Atlantic Ocean

(2) Walvis Ridge

(3) Dolphin Rise - Southern
Atlantic Ocean
(4) Wyville Thomson - North-Eastern

Ridge Atlantic Ocean

FNRrM woe, ity geve
RIETPLT Sraerfey
(1) <fornfbe UR — 98 sicaivesd
TERINR
(2) dicifaq B —  gfEefi—gdf
IFcTlveH
eI
3 SifewT SR S L I o [
AETANTR
@ fIfeer ofimgm — SOl =2
HTH Fcarves -
BRI IRIE "5
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114. What is the ‘cause of the adiabatic change of 114. dIIAYSH H TUHH B BRI TN BT ?F-Z[r’/
temperature in'the atmosphere" PRI &7
(1) Convection and adue‘ctmn (1) dass a2 sifias /
(2) Latent heat of condensatlon (2) HETT & [ HEH
(3) Expansion and conipression of air (3) I B UER g ardie
(4) Partial absorption ofjsolar radiation by @) TRgAYSH ERT W fafpeT o7 ST
the atmosphere ATTEISOT !
115. Heartland / Rimland Theory explains - 115. TouReE/ Rudve Rugea wEmr 8 —
(1) Inter - province relationship 1) SR — gia ey
(2) Centre - state relatlonshlp (2) DE — T waY
(3) Struggle between Tand and sea power (3 I 9 9% oo & 4 ey
(4) Classification of states @ w=u] o1 FiieR
116. Which' of the following m@asures of humidity 116, STedT AT B F# § & e Ry Tam@
is NOT affected by change in pressure and Tl AUEN B gedie 9 uaifag &l ek
temperature? 7 27
(1) Relative humidity - = (1) e asar
(2) Vapour pressure (2) 9% €9
(3) Specific humidity (@) fafre g
(4) Absolute humidity . @) P asar
117. What is the approximate age of the Akal wood 117. GIierR R oiidd HIS Siared] 37 3y
fossils located.in Jaisalmer? T fbae A g 8
(1) 12 crore years P @O 12 o9 9§
(2) 18 crore years (2) 18 TIs W
(3 38 lakh years @) 38 g q¥
(4) 6 crore years @) 6 T aF
118. Which of the following is not comectly 118. Frferiaa ¥ & S gAfem T8l &7
matched? '
(Mountain Peak) (District) (o ) (frem)
(1) Bilalimountain + - Alwar 1) el uwda - e
(2) Barwara mountdin - Ajmer (2) SNaIeI g — JIGTEN
(3) Doramountain - Jalore 3) SR7Udq - TR
(4) Nagpani mountain, - Udaipur @ FFUF TEd - SeIR
119. Mangroves are mainly found in - 119. 379 yHE ®I ¥ F8l UF SR 87
'(1) Aravalli range (1) IRIEel S
(2) Gir forests () TS
(3) Lakshadweep islands (3) EEY g
(4) Krishna delta 4 o o]
120. Identify the wrong pair (Shifting agriculture 120. FrfeiRad 3§ & Tord SliS ReIMMIRG Y
and related country) from following - P M TG e a‘ﬂ) B gEEF BIT —
(1) Jhuming - India (1) T - IRa
(2) Tamrai - Venezuela (2) TRE — T
(3) Milpa - Mexico (3) T — AfDT
(4) Ladang - Indonesia @) ST — SSMRET
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Fr=faRaa § 9 F9 TRE =S Wy

121. Which one of the following is a symptom of 121.
poor mental health? BT AT 7
(1) Optimist 4] mraﬁ’r
(2) Socially adjustable ') Wl’i?;l’fﬁ w7 T W
(3) Tolerance 3) mw
(4) Apprehensive @) ameifed
122. According to Alfred Weber, what is the 122. 3[&hS daR & AR, 519 AT YEBID B
formutia for ‘Labour Cost Index’? T i 27 .
(1) Labour Cost Index = Total Weight of () =9 'R Esis = ITfed q]
Finished Good/ Labour Cost BT ‘cga YR/ SH TN
(2) Labour Cost Index = Labour Cost @) M W EAPIE = 59 A/
[Total Weight of Finished Good TR T BT B AN
(3) Labour Cost Index = Total Weight of (3 A, GEAPBID = - gagifed Gis|
Finished Good/ Labour Cost x 100 BT [l IR/ HH ©IRIT % 100
(4) Labour Cost Index = Labour Cost @) =M 9 YEdie = 3| AN/
[Total Weight of Finished Good x 100 SeIfed 9% BT ol R x 100
123. Which of the following scholars are related to  123. f=foiaa # & o9 & fagm AFg ﬂfﬁ?*r i
the geocratic viewpoint in Human Geography? a1l (Geocratic) fasRERT 9 Wﬁlﬁ &7
a. Humboldt 2. T L
b. Ratzel b. i}gﬁm
c. Ritter c. Rex
d. Semple 4 e
Select the correct answer using the code given T T T ey p—
below — e —
(1) aandb (1) awrb
(2) bandd (2) bEMd
3) a,b,candd @3) ab,cTerd ¥
4 abandd 4) abTerd "
124. What is the correct sequence of the ‘Elements 124. T AEY USRSl el R ST © dcalr &l
of Slope’ on an ideal hill slope from top fo TR o AR € B T B
bottom? (1) S<IeIdl — T T5dT — W&
(1) Convexity - Free face - Rectilinearity NETHBAT — JTTeTar
- Concavity (2) SEdedr — o Yodr — A
(2) Concavity - Free face - Rectilinearity - Tl — m
Convexity ;
(3) Convexity - Free face - Concavity - ®) — Q@Wﬂgﬂw ;
Rectilinearity (4) ST — T JoAT ~ _
(4) Concavity - Free face - Convexity - N ’ '
Rectilinearity sl xelcHepdl ,
10- £ Page 25 of 32
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125. According to Alfred Weber, what is the 125. 3Tohs 98% B IUR, TS EH1H’ BT
formula for ‘Material Index’? T 87 ’
(1) Material Index = Weight of Finished (1) et (j\-qqﬂq; = IAed 91l BT
Good/ Weight of Raw Material WR/ T G BT AR
(2) Material Index = Weight of Raw
Material / Weight of Finished Good (2) UsR YEHiFE = B Ad B IR/
(3) Material. Index = Weight of Raw ITET A4ref FT 9N
Material / Weight of Finished Good X (3) TERS QiD= el WA BT AR/
100 &
(4) Material Index = Weight of Raw w TR x 100
Material + Weight of Finished Good/ @) 9eRf el = T WA BT AR
100 + SeIfed HreT &l MR /100
126. The asthenosphere is a part of which layer of 126, gaeMsSa Yedl & {6 RS WT &I
Earth’s Interior - T far 87
(1) The crust @ Qiqﬁé)[
(2) The mantle 2 Fea
(3) The outer core 3) 9=’ B
(4) The inner core @ aaRe e
127. Which one of the following map projections 127. fr=ifeifeq AmfE uadi # 4§ T g
does not show the equator? W1 BT UGS T8l Bl 87
(1) Stereographic polar zenithal projection 1 s g’?ﬂ'q W Yelq .
(2) Orthographic polar zenithal projection (2) THEHI §ET T TE
(3) Gnomonic polar zenithal projection B =T YA G ey
(4) Lambert equal area zenithal projection @) <EE qHIT Wy Ye
128. In the Population Policy 2000, by which year 128. ¥+ 2000 &I Sieear Hifg # &9 a¥ a@
the aim has been set to bring stability in the YRT B S ae § wifkicg oM Bl g
population of India? TEGT AT B
(1) 2040 (1) 2040
(2) 2045 @) 2045
(3) 2050 (3) 2050
4 2061 4) 2061
129. As per P. Sengupta and G. Sdasyuk’s 129. T I @T T S WERYD P 1968 &
“Economic Regionalisation of India” (1968), ‘aRg B YT URRERT & INER,
Kashmir valley and hills of Himachal Pradesh HIUR TS T BAe oY ¢ UBEl &
are parts of - fvereh T 87
(1) North Western Macro Region (1) T R CED| Tl
(2) Northern Macro Region 2) < geq T
(3) North Central Macro Region (3) SR W 9Eq o
(4) Central Macro Region @ S g -
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130. Match List-I with List-II and select the correct  130. g1 &7 M. ﬁEiT;T ﬁﬁ:‘l‘i‘ ot Vﬂ%\T
answer using code given below - &g g o H51 E‘q’q‘m c’rr\r itﬁ?f TR BT I
List-T List-II ! TS L
[Volcar.uc Cones] . [Mlustration] [T i)
(A) Cinder (i) Mt Izalco A) fyvsx
(B) Composite (ii) MaunaLoa B) fa=
(C) BasicLava  (iii) Mzt. Fuzyama (C©) &rF &
(D) AcidLava  (iv) Stromboli (D) arfl afrr - (i)
Code - He — T
@a @ ©O© @ A @B € D).,
@ iv i i M v d @ . T
) i iii i iv il iv.’
3 ii i iv iii
@ iii iv i ii
131. The author of the book ‘Environment, Race and 131.
Migration’ is -
(1) Griffith Taylor
(2) Huntington
(3) A.G. Price
(4) E.C.Semple o
132. Match List1 (Period) with List2 132. -1 (971 e@h) Eﬁr ?fﬁ——z (SurH) &
(Approaches) and identify the correct answer gafera #ifTe vd fag T Eb_d ﬁ AEEar §
from given code - el R Bl UgIN aﬂ%rq =
List-1 List-2 -1 @_2
(Period) (Approaches) (| 37 = (SUF)
() 1930sthrough A. Spatial @) g—aﬂ G _A @ﬂﬁﬂ? e
the inter-war . 1930. “=n E
period organisation TS
(i) Late1950sto B. Post- () 1950 - B Tﬁa fr
the late 1960s modernism in wWED ter—dugmchqic:
3T I 1960 - -
Geography 3 TF B .
(i) 1970s C. Areal 3T o LR
differentiation (@) 1970 %1 .C.: &g faem
(iv) 1990s D. Emerg?n?e of Gv) 1990 T SN
humanistic, . .
radical and
behavioural .
schools !
() @-C,i)- A, i) -D, (v) - B O ©-C,G)-A G=D,v)-B
. s . @ @-A,3)-C, (i) - D (1v) B -
2) @-A,G)-C,Gi)-D,3Gv)-B
. . . 3 @O-A, (i) -C, (111} B (1v) D
3) @-A,G)-CGi)-B,(Gv)-D 4 C. (i) -D. A B
@ ©-C.(i)-D, G)- A, Gv)-B @ ©-C.@-D, ()~ m-B
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133. Which one of the following statement is not 133.
correct about the Black/Regur soils in India? FrefoRag § & @9ar o 981 e 87
(1) Regur soils are foufid in Maharashtra (1) QT /TS qaﬁr RIS, Tl IO

and Gujarat. , ¥ ardy S 2
(2) Black Soil is also known as “Tropical @) @ T SRR T @
Chernozem.’ W | A S m_c% 2l
(3) Black soil is mature soil. 3) B 7@ e a1 3
(4) Regur soil have low water retaining @ w ey D . BT A
capacity.
B9 BRI B |
134. “The Hillslope Cycle’ theory was given by 134, ‘T8I Tl TH RIFA ot BRI
...... &= T o
(1) A.N. Strahler (1) T T FieeiR
(2) W. Penck () ==Y UF
(3) W. M. Davis (3) W . é-faq
(4) L.C.King r .
@) ua 9. e . G

135. P. Sengupta and ‘G. Sdasyuic* has divided India 135. O ST AT Ol AAIS « RA BT (a)
into (a) .oeenee Macro and (b) ........Meso ... T AT () e e iie weEl
Economic regions. ¥ faiore fmam |

@ @7 (b) 41 O @7 (b) 41
2 @7 (b) 48 2 @7 (b) 48
3 @7 (b) 42 @ @7 (by42
@ @38 (b) 57 @ @8 (b) 57
136. According to Census of India 2011, what was 136, HNcig SIor1 2011 $ IFER, PR H
the population growth rate recorded in Kerala? S Jig o) Tt Tol DI U7
1) 4.30% 1)y 4.30%
2) 491% 2 491%
B3 532% (3) 532%
4 5.76% 4) 5.76%

137. Which' district from following is a leading 137. FifaRad § ¥ IORIM ST 61 Bl
producer of feldspar in the Rajasthan State f3Ter BeuR Seared # i & (s
(according to July 2022)? 2002 B ITER)?

(1) Baran Q) R
(2) Jalore (2) WER
(3) Ajmer (3) 3R » -
(4) JOdhpur ( 4) \_!ﬁﬂg? . )
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138.

139.

140.

141.

Dinarics race is related to -
(1) Australoid race
(2) Mongoloid race
(3) Negrito race

(4) Caucasoid race

Educational Psychology is one of the many
branches of psychology dealing mainly with -

(1) Problem of Education only

(@) Process of Education only

(3) Problem, process and product of

Education

(4). Problem related to assessment only
Where is the Great Barrier Reef located?

(1) Close to Greenland

(2) Off Australian Coast

(3) Central Arbian Sea

(4) Off California Coast

Which of the following group advocated

_ ‘Possibilism’?

(1) Lucian Febvre, Jean Brunhes, Sauer

(2) Ellsworth Huntington, Vidal de la
Blache, Carl Ritter

(3) Jean Brunhes, E. Huntingtomn,
Chisholm

(4) Carl Ritter, Herbertson, Bowman

Dang - Gangdhar highland area located?
(1) Banger region

(2) Chhappan plains
(3) South Hadoti region

(4) Banas basin region

138.

139.

140.

141.

RelRe wenfa fea I arafwe 27

(1) oiRgdiTs yafa @1

(2) wIEEE U BT

(3) SRS YTy &7

4) DioHEaS TSR B

Renr wmifasm, =Is & s@e aamsif
49 uE 2 O T WU R § -

(1) oaa e o T |

(2) oaer e o witmr 9

@) Rrn @ T uihar @ swe 9

@) I 3P ¥ FHEWT TR §

e IR A% & Rerg 87

(1) Areivs & 9 g

(2) <uac sfiegferar

(3) P G AR

@ SIS Biemeifiar

FEfoRaT ¥ & f59 w8 3 "9=mEag o

qRTEd DIe

(1) IR &, <9 g9, 9

(2) ToaR EiSTe, fee & o =,
et Rex

(3 i 99, 3. e, R

@) @i Rex, g6ea, 999

142. In which physical region of Rajasthan is the 142, T — TR S= 4H &5, IoRIN B fowr

Hifs ugwr § Re 27
(1) IR ¥

(2) BUE BT HeM
(3) <for TR &y
@) 9 SR &
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143.

144.

145.

Which of the following is a focal area of 143.
Educational Psychology?

(1) Learning process

(2) Community

(3) Management

(4) Measurement

Which one of the following pairs is not 144.
correctly matched?
Mineral Mining Area
(1) Lead-Zinc - Mochia Magra
(2) Manganese - Leelwani
3) Gold - Anandapur -
Bhukia
4) Iron - Kolihan and
Mandhan

Which of the following models are related with ~ 145.

Umland or zone of Urban infiluence?

A. Gravitational model of Carey

B. Breaking point concept of Converse

C. Retail gravitational model of Reilly
Select the correct answer from the code given
below -
Code -

(1) only A and B are correct

(2) only B and C are correct

(3) only A and C are correct

{4) A, B and C are correct

Frfafea 8 3 o= Ber = iksms &1
P &8F &7
1) fErm gihar

2) wEE
3 wE=F
@) U
fa=faRen § & @ w6 g AR T8
8?
eI R RAE]
(1) Hra—sar — AR W
(2 N — lear
® = — IR - Yfear
@ — BIfTEM SR A
FefRag ¥ @ Sl Afsa eSO
TR W & ¥ e 87
A, B F T Rigia
B. $a9 & A {dvg WehodHr
C. Xefl &7 Hedk o 1w

e SR B gud i [{y W osme @
Pifoly —

ﬁ'_

(1) Pdel A T B W&l &

(2) S99 B @I C 98 &

(3) g A N C w8 8 ’

4 ABTICEET

146. According to Thornthwaite’s classification of 146, ifffide & SiaTg THHROT & ITAR, Y
climates, what is precipitation effectiveness g & fore aur wIfda Esis r 27
index for arid forest? ‘
1) 32-63 1) 32-63 }
@ 64127 2) 64-127 ‘
3 >128 3 >128
@ <16 @ <16 1
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147. According to Piaget, expression only through 147. Rumr & AR, wad THE Tearel gwr

motor activities are observed is which stage?
(1) Sensory motor stage
(2) Concrete operational stage
(3) Pre operational stage
(4) Formal operational stage

efd e saen 9 S o7 @@dr &7
(1) =g vifyg 9 sEen

(2 ¥ <dfharere sawen
(3) vd wiharcH® araRen
(@ SitTeRe Hikads e

148. Which region is not included in main regions 148. fr=faifaq § ¥ B9ar &5 aPRTF 99
of commercial dairy farming from following? gff @ T &l 7 wffr €l far s
(1) North Western Europe D) SR Ffer qg‘rq
(2) Canada (2 AT
(3) Indonesia and Malaysia (3) SR vd weilm
(4) South Eastern Australia, New Zealand @ <o gdt effesfern, wgeicls w@
and Tasmania e
149. Which of the following is the Subordinate Law 149. f=foiRem & @ ofar offems mr
of Learning propounded by Thorndike? wioaTied R &1 9o e 27
(1) Law of multiple response (1) g s fdrar & fraw
(2) Law of effect 2 wE o1 g
(3) Law of exercise @) = BT P
(4) Law of readiness @) aeRar T R
150. Which is the group of districts with the highest 150. o 2011 7 WFIOFT ¥ 0 — 6 oy a7 &
and lowest sex ratio in the age group 0 - 6 in the i g g g e et o
2011 census? 0 Eﬁw &
(1) Banswara - Dholpur () arret - Fﬁ?ﬂ?
(2) TG — PRI
(2) Pratapgarh- Karauli )
(3 Udaipur - Sri Ganganagar © W B
(4) Banswara - Jhunjhunu @ rarT - g9
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